Prepared by:	ehs													
Solicitatio	n No.: B-13-0		ontract No: C-13-018-DB		· ~ 1			•						ý
SAN ANTONIO WATER SYSTEM					1		66		Corp.	npanj				
			X 2449 TONIO, TEXAS 78298-2449 ATION OF BIDS		eering, l t. Hedw TX 781			kin Q Construction I 612 Oakwood Loop	San Marcos, TX 78666		ction, Co	, TX 78		o Construction Cor 7054 Pipestone Schertz, TX 78154
PROPOS	AL:	Hidden S	prings Water Project		Engin lkins S	Ω 		l Const Oakwo	arcos,		onstruc 2 Suns	Shoals		onstruct 54 Pipe ertz, Ty
		Job # 11-	7003		Wauters Engineering, LLC 12870 Adkins St. Hedwig Rd St Hedwig TX 78157			Rockin Q Construction LLC 612 Oakwood Loop	San M		Atlas Construction, 312 Sunset Dr	Granite Shoals, TX 78654	-	Pesado Construction Company 7054 Pipestone Schertz, TX 78154
TIME &		10:00 A.I	М.		1								, ,	<u>d</u> ,
DATE:	1	March 20), 2013	 		1			1			1		r
Item No.	Quantity	Unit	Description	Unit Price			Unit Price		Total	Unit Price		Total	Unit Price	
P														
205	1,800	SY	Hot Mix Asphaltic Pavement, Type B (12" Comp Depth)	\$52.00		\$93,600.00	\$65.00		\$117,000.00	\$50.00		\$90,000.00	\$67.00	
205.4	14,700		Hot Mix Asphaltic Pavement, Type D (2" Comp Depth)	\$9.00		\$132,300.00	\$10.00		\$147,000.00	\$10.00		\$147,000.00	\$8.50	
			Salvaging, Hauling, and Stockpiling Reclaimable Asphaltic											
208	14,700		Pavement (2" Comp Depth)	\$4.04		\$59,388.00	\$4.00		\$58,800.00	\$4.00		\$58,800.00	\$2.50	
500.1	38	LF	Concrete Curb	\$23.87		\$907.06	\$100.00		\$3,800.00	\$50.00		\$1,900.00	\$30.00	
505.1	7	SY	Concrete Riprap (9" Thick)	\$138.69		\$970.83	\$150.00		\$1,050.00	\$100.00		\$700.00	\$700.00	
515.1	36	СҮ	Topsoil (4")	\$36.90		\$1,328.40	\$20.00		\$720.00	\$100.00		\$3,600.00	\$60.00	
516.1	322		Bermuda Sodding	\$3.11		\$1,001.42	\$50.00		\$16,100.00	\$25.00		\$8,050.00	\$7.00	
530.1	1		Barricades, Signs and Traffic Handling	\$6,918.93		\$6,918.93	\$15,000.00		\$15,000.00	\$60,000.00		\$60,000.00	\$60,000.00	
540.9	1,170	LF	Temporary Sediment Control Fence	\$1.73		\$2,024.10	\$5.00		\$5,850.00	\$10.00		\$11,700.00	\$3.00	
540.10	60	LF	Curb Inlet Gravel Filters	\$17.30		\$1,038.00	\$10.00		\$600.00	\$25.00		\$1,500.00	\$10.00	
550	4,299	LF	Trench Excavation Safety Protection	\$1.73		\$7,437.27	\$1.00		\$4,299.00	\$2.00		\$8,598.00	\$2.00	
818	221	LF	6" PVC Waterline (Restrained as Required)	\$26.73		\$5,907.33	\$40.00		\$8,840.00	\$50.00		\$11,050.00	\$85.00	
818	1,205		8" PVC Waterline (Restrained as Required)	\$38.81		\$46,766.05	\$44.00		\$53,020.00	\$55.00		\$66,275.00	\$90.00	
			12" PVC Waterline (Restrained as											
818	2,843		Required)	\$55.86		\$158,809.98	\$66.00	•	\$187,638.00	\$65.00	•	\$184,795.00	\$120.00	
824	7		Relay 3/4" Short Service	\$1,003.31	age	\$7,023.17	\$2,500.00	ercentage	\$17,500.00	\$800.00	age	\$5,600.00	\$1,300.00	Percentage
824	8	EA	Relay 3/4" Long Service	\$1,187.81	ntî	\$9,502.48	\$3,200.00	ntɛ	\$25,600.00	\$900.00	ntê	\$7,200.00	\$2,300.00	nt
824	4	EA	Relay Dual 1" Short Service	\$1,303.13	Percenta	\$5,212.52	\$2,700.00	ce.	\$10,800.00	\$1,200.00	Percenta	\$4,800.00	\$1,800.00	e l
824	1	EA	Relay 2" Service	\$2,427.45	Per	\$2,427.45	\$4,300.00	Per	\$4,300.00	\$1,500.00	Per	\$1,500.00	\$4,500.00	Per
828	5	EA	6" Gate Valves	\$1,196.94		\$5,984.70	\$1,100.00	_	\$5,500.00	\$1,300.00		\$6,500.00	\$600.00	
828	1	EA	8" Gate Valves	\$1,519.82		\$1,519.82	\$1,600.00		\$1,600.00	\$1,600.00		\$1,600.00	\$2,000.00	
									Dago 1 of					

Pesado Construction Company 7054 Pipestone Schertz, TX 78154	X	Bartek Construction 5221 Port Entry San Antonio, TX 78222							
	Total	Unit Price		Total					
	\$120,600.00	\$76.00		\$136,800.00					
	\$124,950.00	\$9.50		\$139,650.00					
	\$36,750.00	\$2.25		\$33,075.00					
	\$1,140.00	\$45.00		\$1,710.00					
	\$4,900.00	\$275.00		\$1,925.00					
	\$2,160.00	\$78.00		\$2,808.00					
	¢2.254.00	¢0.00		¢2 202 00					
	\$2,254.00	\$9.00		\$2,898.00					
	\$60,000.00	\$27,000.00		\$27,000.00					
	\$3,510.00	\$3.50		\$4,095.00					
	\$600.00	\$10.00		\$600.00					
	\$8,598.00	\$1.00		\$4,299.00					
	\$18,785.00	\$73.00		\$16,133.00					
	\$108,450.00	\$75.00		\$90,375.00					
	\$341,160.00	\$88.00		\$250,184.00					
e e	\$9,100.00	\$1,500.00	ge	\$10,500.00					
Itag	\$18,400.00	\$2,200.00	tag	\$17,600.00					
Percentage	\$7,200.00	\$2,500.00	Percentage	\$10,000.00					
erc	\$4,500.00	\$3,000.00	erc	\$3,000.00					
4	\$3,000.00	\$2,200.00	Р	\$11,000.00					
	\$2,000.00	\$2,600.00		\$2,600.00					

Prepared by	: ehs																
Solicitati			ontract No: C-13-018-DB NTONIO WATER SYSTEM	2 Rd			j, TC			54 P.			pany			2	
	P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS			gineering, LLC s St. Hedwig Rd g, TX 78152			Q Construction LLC Oakwood Loop 1arcos, TX 78666			ction, Corj set Dr. s, TX 7865			tion Comf estone X 78154			Istruction t Entry TX 78222	
PROPO	PROPOSAL: Hidden Springs Water Project			Wauters Engineering, I 12870 Adkins St. Hedw St. Hedwig, TX 7815			Rockin Q Cons 612 Oakwc San Marcos,			Atlas Construction, Corp. 312 Sunset Dr. Granite Shoals, TX 78654			esado Construction Company 7054 Pipestone Schertz, TX 78154			Bartek Construction 5221 Port Entry San Antonio, TX 78222	
		Job # 11-			W 128			Ro			A	Ċ		Pess			
TIME & DATE:		10:00 A.I March 20															
_																	
ltem No.	Quantity	Unit	Description	Unit Price			Unit Price		Total	Unit Price		Total	Unit Price		Total	Unit Price	Total
828	7	EA	12" Gate Valves	\$2,442.34		\$17,096.38	\$2,800.00		\$19,600.00	\$2,500.00	_	\$17,500.00	\$3,000.00	-	\$21,000.00	\$4,800.00	\$33,600.00
834	5	EA	Fire Hydrants	\$2,693.75		\$13,468.75	\$5,000.00		\$25,000.00	\$4,500.00	-	\$22,500.00	\$5,000.00	-	\$25,000.00	\$5,300.00	\$26,500.00
836	6.35	TON	Pipe Fitting, All Sizes and Types	\$2,722.21		\$17,286.03	\$5,800.00		\$36,830.00	\$5,000.00	-	\$31,750.00	\$3,000.00		\$19,050.00	\$3,200.00	\$20,320.00
840	6	EA	6" Water Tie-Ins	\$1,055.33		\$6,331.98	\$2,500.00		\$15,000.00	\$1,500.00	-	\$9,000.00	\$2,000.00		\$12,000.00	\$2,700.00	\$16,200.00
840	1	EA	12" Water Tie-Ins	\$1,285.96		\$1,285.96	\$5,000.00		\$5,000.00	\$1,800.00		\$1,800.00	\$3,000.00		\$3,000.00	\$3,000.00	\$3,000.00
841	6	EA	Hydrostatic Testing	\$1,729.73		\$10,378.38	\$1,000.00		\$6,000.00	\$2,500.00	_	\$15,000.00	\$2,000.00		\$12,000.00	\$2,800.00	\$16,800.00
844	6	EA	2" Blowoff, Temporary	\$1,527.26		\$9,163.56	\$1,800.00		\$10,800.00	\$1,500.00		\$9,000.00	\$1,500.00		\$9,000.00	\$1,400.00	\$8,400.00
846	4	EA	1" Air Release Assemblies	\$2,680.23		\$10,720.92	\$2,000.00		\$8,000.00	\$2,500.00	_	\$10,000.00	\$2,000.00		\$8,000.00	\$2,000.00	\$8,000.00
856.1	40	LF	Jacking, Boring and Tunneling 24"	\$494.25		\$19,770.00	\$400.00		\$16,000.00	\$500.00		\$20,000.00	\$600.00		\$24,000.00	\$700.00	\$28,000.00
856.2	40	LF	8" Carrier Pipe for Jacking, Boring and Tunneling	\$46.41		\$1,856.40	\$25.00		\$1,000.00	\$100.00		\$4,000.00	\$45.00		\$1,800.00	\$62.00	\$2,480.00
856.3	40	LF	Casing or Liner 24"	\$51.89		\$2,075.60	\$100.00		\$4,000.00	\$100.00		\$4,000.00	\$55.00		\$2,200.00	\$160.00	\$6,400.00
11290	8	EA	Pressure Relief Valve Assembly	\$19,128.40		\$153,027.20	\$20,000.00		\$160,000.00	\$30,000.00		\$240,000.00	\$18,000.00		\$144,000.00	\$43,000.00	\$344,000.00
11295	2	EA	Pressure Reducing Valve Assembly	\$55,620.63		\$111,241.26	\$70,000.00		\$140,000.00	\$70,000.00		\$140,000.00	\$65,000.00		\$130,000.00	\$82,000.00	\$164,000.00
			SUB TOTAL BASE BID			\$923,769.93			\$1,132,247.00		-	\$1,205,718.00			\$1,289,107.00		\$1,443,952.00
100	1	LS	Mobilization	\$65,320.00	7.1%	\$65,587.67	\$101,902.23	9%	\$101,902.23	\$120,000.00	9.953%	\$120,005.11	\$100,000.00	7.76%	\$100,034.70	\$110,000.00 7.6	% \$110,029.14
101	1	LS	Preparing of Right of Way	\$26,925.96	2.9%	\$26,789.33	\$45,289.88	4%	\$45,289.88	\$59,000.00	4.89%	\$58,995.78	\$52,000.00	4.034%	\$52,002.58	\$26,000.00 1.8	\$25,991.14
	Mobilization & Preparation of R.O.W. Subtota					\$92,376.99			\$147,192.11			\$179,000.89			\$152,037.28		\$136,020.28
	Total	l Bid Am	ount including Addendum #1 & #2			\$1,016,146.93			\$1,279,439.11			\$1,384,718.89			\$1,441,144.28		\$1,579,972.28
CALEN	DAR DAYS	TO COM	IPLETE			240			240			240			240		240
						[1]			[2]			[3]			[4]		[5]

Page 2 of 4

Prepared by:	ehs						pt						
Solicitation	n No.: B-13-0	19-DB Co	ontract No: C-13-018-DB		പ		Pronto Sandblasting & Coating & Oilfield						
		SAN AI	NTONIO WATER SYSTEM	,	Construction Co., Inc. Prairie Creek Rd. Shoals, TX 78654		0 %	ŝ		9 ⁹			
P. O. BOX 2449				Ċ	tion Co., I Sreek Rd. TX 78654		ting	sa 1822		EZ Bel Construction, LLC 203 Recoleta San Antonio, TX 78216			
SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS					TX TX		Coa	C. Pre		l Constructior 203 Recoleta Antonio, TX 7			
DDODOG				-	struc rie C als,		*	Co., Inc. 5 South P conio. TX			Recc lio. 7		
PROPOS.	AL:	Hidden S	prings Water Project	C	Prai Sho		sting	Co., Inc. 9456 South Presa Antonio. TX 782			Cor 203] nton		
					o Mex Construction Co., 2801 Prairie Creek Rd. Granite Shoals, TX 7865		dbla	Co., Inc. 9456 South Presa San Antonio. TX 78223			Z Bel Constri 203 Rec San Antonio.		
		Job # 11-	7003		Qro Mex 2801 Granite		San	ÿ			S, EZ		
TIME &		10:00 A.M	M.	(<u>ر</u>		onto						
DATE:		March 20	, 2013				Pr.		I				
Terre													
Item No.	Quantity	Unit	Description	Unit Price		Total	Unit Price		Total	Unit Price		Total	
			Hot Mix Asphaltic Pavement,										
205	1,800	SY	Type B (12" Comp Depth)	\$70.00		\$126,000.00	\$100.00		\$180,000.00	\$60.00		\$108,000.00	
205.4	14,700		Hot Mix Asphaltic Pavement, Type D (2" Comp Depth)	\$15.00		\$220,500.00	\$15.00		\$220,500.00	\$10.00		\$147,000.00	
	,		Salvaging, Hauling, and	+						+		+	
208	14,700		Stockpiling Reclaimable Asphaltic Pavement (2" Comp Depth)	\$4.50		\$66,150.00	\$8.00		\$117,600.00	\$2.25		\$33,075.00	
200				φ+.50		\$00,150.00	\$6.00		\$117,000.00				
500.1	38	LF	Concrete Curb	\$30.00		\$1,140.00	\$40.00		\$1,520.00	\$45.00		\$1,710.00	
505.1	7	SY	Concrete Riprap (9" Thick)	\$105.00		\$735.00	\$200.00		\$1,400.00	\$200.00		\$1,400.00	
515.1	36	СҮ	Topsoil (4")	\$25.00		\$900.00	\$30.00		\$1,080.00	\$40.00		\$1,440.00	
516.1	322	SY	Bermuda Sodding	\$5.00		\$1,610.00	\$7.00		\$2,254.00	\$10.00		\$3,220.00	
520.1			Barricades, Signs and Traffic										
530.1	1	LS	Handling Temporary Sediment Control	\$30,000.00		\$30,000.00	\$18,000.00		\$18,000.00	\$40,000.00		\$40,000.00	
540.9	1,170	LF	Fence	\$2.50		\$2,925.00	\$5.00		\$5,850.00	\$6.00		\$7,020.00	
540.10	60	LF	Curb Inlet Gravel Filters	\$20.00		\$1,200.00	\$7.00		\$420.00	\$20.00		\$1,200.00	
550	4,299	LF	Trench Excavation Safety Protection	\$2.00		\$8,598.00	\$2.00		\$8,598.00	\$2.00		\$8,598.00	
818	221		6" PVC Waterline (Restrained as Required)	\$70.00		\$15,470.00	\$53.00		\$11,713.00	\$150.00		\$33,150.00	
			8" PVC Waterline (Restrained as										
818	1,205	LF	Required) 12" PVC Waterline (Restrained as	\$95.00		\$114,475.00	\$68.00		\$81,940.00	\$150.00		\$180,750.00	
818	2,843	LF	Required)	\$99.00		\$281,457.00	\$68.00		\$193,324.00	\$165.00		\$469,095.00	
824	7	EA	Relay 3/4" Short Service	\$1,200.00	ge	\$8,400.00	\$2,500.00	ge	\$17,500.00	\$1,500.00	ge	\$10,500.00	
824	8	EA	Relay 3/4" Long Service	\$1,400.00	Ita	\$11,200.00	\$3,400.00	Ita	\$27,200.00	\$2,200.00	nta	\$17,600.00	
824	4	EA	Relay Dual 1" Short Service	\$1,500.00	Percenta	\$6,000.00	\$3,200.00	Percenta	\$12,800.00	\$2,000.00	Percenta	\$8,000.00	
824	1	EA	Relay 2" Service	\$2,200.00	Per	\$2,200.00	\$4,300.00	Per	\$4,300.00	\$3,800.00	Jer	\$3,800.00	
828	5	EA	6" Gate Valves	\$1,350.00		\$6,750.00	\$2,100.00		\$10,500.00	\$2,100.00		\$10,500.00	
828	1	EA	8" Gate Valves	\$1,450.00		\$1,450.00	\$2,700.00		\$2,700.00	\$2,600.00		\$2,600.00	
									Page 3 o				

Prepared by: e	ehs						bla					
Solicitation No.: B-13-019-DB Contract No: C-13-018-DB SAN ANTONIO WATER SYSTEM				., Inc. I. 54		& Oilfie	c.	2	C y			
P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS					Qro Mex Construction Co., Inc. 2801 Prairie Creek Rd. Granite Shoals, TX 78654		Pronto Sandblasting & Coating & Oilfield		uction, LI coleta TX 7821			
PROPOSAL: Hidden Springs Water Project				C	ex Consur 01 Prairie nite Shoal		lblasting d		EZ Bel Construction, LLC 203 Recoleta San Antonio, TX 78216			
		Job # 11-	7003		uro M 28 Gra		Sanc			EZ		
TIME &		10:00 A.I					rontc					
DATE:		March 20), 2013				Ч					
Item No.	Quantity	Unit	Description	Unit Price		Total	Unit Price		Total	Unit Price		Total
828	7	EA	12" Gate Valves	\$2,300.00		\$16,100.00	\$3,600.00		\$25,200.00	\$3,800.00		\$26,600.00
834	5	EA	Fire Hydrants	\$5,000.00		\$25,000.00	\$5,000.00		\$25,000.00	\$4,800.00		\$24,000.00
836	6.35	TON	Pipe Fitting, All Sizes and Types	\$5,000.00		\$31,750.00	\$5,600.00		\$35,560.00	\$1.00		\$6.35
840	6	EA	6" Water Tie-Ins	\$4,000.00		\$24,000.00	\$2,500.00		\$15,000.00	\$1,700.00		\$10,200.00
840	1	EA	12" Water Tie-Ins	\$5,000.00		\$5,000.00	\$3,500.00		\$3,500.00	\$2,400.00		\$2,400.00
841	6	EA	Hydrostatic Testing	\$2,500.00		\$15,000.00	\$2,200.00		\$13,200.00	\$1,850.00		\$11,100.00
844	6	EA	2" Blowoff, Temporary	\$2,200.00		\$13,200.00	\$2,500.00		\$15,000.00	\$1,000.00		\$6,000.00
846	4	EA	1" Air Release Assemblies	\$3,000.00		\$12,000.00	\$2,800.00		\$11,200.00	\$1,500.00		\$6,000.00
856.1	40	LF	Jacking, Boring and Tunneling 24"	\$300.00		\$12,000.00	\$800.00		\$32,000.00	\$450.00		\$18,000.00
856.2	40	LF	8" Carrier Pipe for Jacking, Boring and Tunneling	\$80.00		\$3,200.00	\$90.00		\$3,600.00	\$50.00		\$2,000.00
856.3	40	LF	Casing or Liner 24"	\$120.00		\$4,800.00	\$120.00		\$4,800.00	\$100.00		\$4,000.00
11290	8	EA	Pressure Relief Valve Assembly	\$28,000.00		\$224,000.00	\$24,000.00		\$192,000.00	\$22,000.00		\$176,000.00
11295	2	EA	Pressure Reducing Valve Assembly	\$70,000.00		\$140,000.00	\$70,000.00		\$140,000.00	\$79,000.00		\$158,000.00
			SUB TOTAL BASE BID			\$1,433,210.00			\$1,435,259.00			\$1,532,964.35
100	1	LS	Mobilization	\$117,648.90	9.5%	\$136,154.95	\$140,000.00	10%	\$140,000.00	\$150,000.00	10%	\$150,000.00
101	1	LS	Preparing of Right of Way	\$49,320.96	3.5%	\$50,162.35	\$56,000.00	4%	\$56,000.00	\$50,000.00	3%	\$50,000.00
	Mob	oilization	& Preparation of R.O.W. Subtotal			\$186,317.30			\$196,000.00			\$200,000.00
	Total	l Bid Am	ount including Addendum #1 & #2			\$1,619,527.30			\$1,631,259.00			\$1,732,964.35
CALENI	DAR DAYS	TO COM	IPLETE			240			240			240
						[6]			[7]			[8]